CIEF02_X spectral tristimulus valuesymax(A)=1

XFo2_x,1A)=
20 Ay
1o ----

400

A1l Foz_x, 1M +A12MEo2_x,1N)
+A13SF02_x,1A)
1,9473 -1,4144 0,3647 A570)
D65:3X rgp x 1(N)=17,77
XFo2 X_,1:0’2144
Yro2_x,1=0,2620

600
wavelengthA /nm

BE501-1A 1




CIEF02_X spectral tristimulus valuesymax(A)=1

XFo2_x,1A)=
20 Ay
1o ----

400

A1l Foz_x, 1M +A12MEo2_x,1N)
+A13SF02_x,1A)
1,9473 -1,4144 0,3647 A570)
D50:3X gp x 1(N)=17,29
XFo2 X_,1:0’2422
Yro2_x,1=0,3033

600
wavelengthA /nm

BE501-1A 1




CIEF02_X spectral tristimulus valuesymay(A)=1
Xroz2_x,10)=A11l Foz_x,1A)*A12ME02_x,1(A)

2,0 Aqj

400

+A135r02_x,1(A)
1,9473 -1,4144 0,3647 A570)
P40:5X rgp x 1(1)=18,33
XFo2 X_,1:0’2748
ro2_x,:=0,3324

600
wavelengthA /nm

BE501-1A 1




CIEF02_X spectral tristimulus valuesymay(A)=1
Xroz2_x,10)=A11l Foz_x,1A)*A12ME02_x,1(A)

2,0 Aqj

400

+A13SF02_x,1A)
1,9473 -1,4144 0,3647 A€570)
AQD:3X gy x 1(A)=20,49
XF02 X_,1:0’3512
2:)(’1:0,3968

600
wavelengthA /nm

BE501-1A 1




CIEF02_X spectral tristimulus valuesymax(A)=1

XFo2_x,1A)=
20 Ay
1o ----

400

A1l Foz_x, 1M +A12MEo2_x,1N)
+A13SF02_x,1A)
1,9473 -1,4144 0,3647 A570)
E00:3% £op x 1(M)=19,34
XFo2 X_,1:0’2319
Yro2_x,10,2683

600
wavelengthA /nm

BE501-1A 1




CIEF02_X spectral tristimulus valuesymax(A)=1

XFo2_x,1A)=
20 Ay
1o ----

400

A1l Foz_x, 1M +A12MEo2_x,1N)
+A135r02_x,1(A)
1,9473 -1,4144 0,3647 A570)
CO0:3X £gp x £N)=18,19
XFo2 X_,1:0’2136
Yro2_x,10,2486

600
wavelengthA /nm

BE501-1A 1




CIEF02_X spectral tristimulus valuesymay(A)=1
Xroz2_x,10)=A11l Foz_x,1A)*A12ME02_x,1(A)

2,0 Aqj

400

+A135r02_x,1(A)
1,9473 -1,4144 0,3647 A570)
PO0:3X gp x 1()=19,38
XFo2 X_,1:0’2561
Yro2_x,170,2974

600
wavelengthA /nm

BE501-1A 1




CIEF02_X spectral tristimulus valuesymax(A)=1

XFo2_x,1A)=
20 Ay
1o ----

400

A1l Foz_x, 1M +A12MEo2_x,1N)
+A13SF02_x,1A)
1,9473 -1,4144 0,3647 A570)
QO03X £gp x £N)=19,78
XFo2 X_,1:0’2110
Yro2_x,1=0,2389

600
wavelengthA /nm

BE501-1A 1




